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Задание 1. Bставьте слова в скобках в пропуски.  Каждое слово может быть использовано 

только один раз. 

 

 

 

1. I ____ hope that one day you’ll share a story about this ___ memorable experience. (truly, sincerely) 

2. The tiger let out a plangent _______ when it saw the ______ meat in the bowl. (roar, raw) 

3.           As she began walking down the _______ she realized she wanted to escape to a deserted 

________. (aisle, isle) 

4. During the _______ year in the power plant’s history, the two fires and numerous strikes let to its 

______ shutdown. (eventful, eventual) 

5. Grace spoke to her son in a very _________ manner as she is a _________ mother. (sensitive, 

sensible) 

6. The student wanted to ________ all problems given in the task to get A+ and ________ the 

unpleasant conflict with the teacher. (solve, resolve) 

7. Such _________ after this type of surgery is rare, despite the _________ of the procedure. 

(complexity, complication).  

8. After two hours on the phone I _________ reached the hospital, but __________ did not receive the 

information I needed. (eventually, ultimately) 

9.  Doctors _______ consuming products full of nutrients and vitamins, so we need to _______ the 

children to do this. (encourage, suggest) 

10.  I am writing to ________ about the requirements I need to meet to __________ the qualification. 

(acquire, inquire) 

 

Задание 2.  Соедините 2 части идиом (всего 6 идиом): 

Rub someone  

A bitter pill 

Wear one’s heart 

Be a feather  

Burn the midnight 

Get off 

on one’s sleeve 

the ground 

up the wrong way 

the beaten track 

oil 

on one’s cap 

to swallow  

 

Задание 3. Выберите правильный вариант ответа.  

1. The Australian Indian Pacific train, _______ was the world's first transcontinental train linking two 

oceans, is one of the world's most luxurious long-distance trains. 

a. that  

b. which  

c. where  
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2. They might _______ about the meeting, otherwise they would be there.  

a. forget 

b. have been forgetting  
c. have forgotten 

 

3. He _____ the news a few days earlier and he ____ still in shock.  

 

a. heard; is 

b. had heard; was 

c. has heard; has been 

 

4. You'll earn the respect __________ you follow my advice. 

a. as like 

b. so as 

c. as long as 

 

5. Ann would have made sure John was here __________ were going to give a 

lecture on e-learning. 

a. if she has known you 

b. if she was known you 

c. if she had known you 

 

6. I really regretted my mistake. It was one that I _________. 

 

a. ought not to be making 

b. ought not to have made 

c. not to make 

 

7. By the time she arrives, we ________________ the project. 

 

a. will have finished 

b. will finish 

c. finish 

 

8. He should _______ before they increased the price. 

a. have had his car repaired 

b. have repaired his car 

c. have his car repaired 

9. Sometimes I wish I _______ you, then I would know how it feels to be such a successful person. 

 

a. were 

b. would be 

c. had been 
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10. Intercultural communication does not mean assimilation with another society _______ .   

 

a. nor is it abandoning one's own culture 

b. neither it is abandoning one's own culture 

c. it is nor abandoning one's own culture 

Задание 4.Прочитайте текст и выберите правильный вариант ответа. 

A recent study involving Kansas State University researchers1) ___ that in the coming decades, at least one-

quarter of the world's wheat production  2)___to extreme weather and water stress if no adaptive measures 

are taken. 

Researchers found that the effects from climate change and its increasing temperatures on wheat will be 

more severe than once projected and are happening sooner than expected. While increases in the average 

temperature are problematic, a bigger challenge is the extreme temperatures that 3)____from climate change. 

Researchers also found that increasing temperatures are shortening the time frame that wheat plants have 

4)____and produce full heads for harvest, resulting in less grain produced from each plant. 

According to a study 5)____by the Postsdam Institute for Climate Impact Research, corn and soybean plants 

can lose 5% of their harvest for every day temperatures climb above 86 °F (30 °C).) At this rate, future 

harvests of wheat, soybeans, and corn could drop by up to 50 percent. 

1. 

a. find 

b. found 

c. has found  

 
2. 

a. Will be lost 

b. Will lost 

c. Are losing  

 
3.  

a. result 

b. are resulting  

c. was resulted  

4.  
a) have been matured  

b)   were matured  

c)   to mature  

 

5. 
a) released  

b) is released  

c) was released  

 


